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001. økwshkík hkßÞLkk rsÕ÷kyku yLku ðzw{Úkf Ëþkoðíkk òuzfk Ãkife fÞk òuzfk ÞkuøÞ Au ?

1. yhkðÕ÷e  -  {kuzkMkk

2. ¾uzk  -  ykýtË

3. {neMkkøkh  -  ÷wýkðkzk

4. íkkÃke  -  hksÃkeÃk¤k
(A) 1, 3 (B) 1, 2
(C) 1, 4 (D) 2, 3

002. Lke[uLkk Ãkife fÞwt òuzfwt ÞkuøÞ Au ?

1. nXeMkªøk siLk {trËh  -  y{ËkðkË

2. Lkkøkuïh ßÞkurík÷eOøk  -  îkhfk

3. MkqÞo {trËh  -  {kuZuhk

4. ytçkkS {trËh  -  ®n{íkLkøkh (MkkçkhfktXk)

(A) 1, 2 yLku 4 (B) 1, 3 yLku 4

(C) 1, 2, 3 (D) 2, 3, yLku 4

003. nkÞzÙku «kusuõx yLku MktçktrÄík hkßÞLkk òuzfk Ãkife fÞk òuzfk ÞkuøÞ Au ?

1. íkwtøk¼ÿk «kusuõx  -  yktÄú«Ëuþ / fýkoxf

2. Mkku{ «kusuõx  -  rçknkh

3. RÂLËhk Mkkøkh «kusuõx  -  {nkhk»xÙ

4. fzkýk «kusuõx  -  økwshkík
(A) 1, 3, 4 (B) 1, 2, 3
(C) 2, 3, 4 (D) 1, 2, 4

004. ¼khík ËuþLkk fw÷ ûkuºkV¤ Ãkife økwshkík fux÷k xfk (%) rðMíkkh Ähkðu Au ?
(A) 9.37 (B) 7.33
(C) 5.97 (D) 4.11

005. økwshkíkLkk fw÷ rðMíkkh Ãkife fux÷k xfk (%) rðMíkkh{kt støk÷ku ykðu÷k Au ?
(A) 11.05 (B) 12.05
(C) 14.05 (D) 16.05

006. ¼khík{kt fw÷ ðMíkeLkk fux÷k xfk (%) ðMíke, þqLÞÚke A ð»ko (Zero to Six years) MkwÄeLkk çkk¤fkuLke Au ? (2011 Lkk
MkuLMkMk {wsçk)
(A) 12.87 (B) 13.59
(C) 14.70 (D) 15.46

007. økwshkíkLkk økúkBÞ rðMíkkh{kt MºkeykuLkku Mkkûkhíkk Ëh (Literacy rate) fux÷ku Au ? (2011 Lkk MkuLMkMk {wsçk)
(A) 69.7 (B) 61.4
(C) 81.1 (D) 57.9

008. 2011 Lkk MkuLMkMk {wsçk, fw÷ ðMíkeLkk «{ký{kt, þnuh{kt ðMkíkk ÷kufkuLke ðMíke, fÞk hkßÞ{kt MkkiÚke ðÄkhu Au ?

(A) yktÄú«Ëuþ (B) ykMkk{

(C) rçknkh (D) økkuðk
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009. økwshkík hkßÞLkk fÞk rsÕ÷k{kt MkuõMk huþeÞku (Sex Ratio) MkkiÚke ykuAku Au ?

(A) íkkÃke (B) Mkwhík

(C) ð÷Mkkz (D) zktøk

010. Lke[uLkk Ãkife fÞk ðkõÞku Mkk[k Au ?

1. þuhzeLkwt WíÃkkËLk MkkiÚke ðÄw W¥kh«Ëuþ{kt ÚkkÞ Au.

2. þuhzeLkk WíÃkkËLk{kt {nkhk»xÙ çkeò Lktçkhu Au.

(A) «Úk{ ðkõÞ Mkk[wt Au. (B) çkesw ðkõÞ Mkk[wt Au.

(C) «Úk{ yLku çkesw çkLLku ðkõÞku Mkk[k Au. (D) «Úk{ yLku çkesw çkLLku ðkõÞku ÞkuøÞ LkÚke.

011. hkßÞ yLku íku{kt ykðu÷ çktËh (Port) Lke òuze Ãkife fE òuze ÞkuøÞ Au ?

1. yktÄú«Ëuþ  -  rðþk¾kÃkèLk{ Ãkkuxo

2. {nkhk»xÙ  -  sðknh÷k÷ LknuY Ãkkuxo

3. økkuðk  -  ÃkkhkËeÃk Ãkkuxo

4. yktËk{kLk-rLkfkuçkkh xkÃkwyku  -  Ãkkuxo ç÷uÞh

(A) 1, 2 yLku 3 (B) 1, 2 yLku 4

(C) 1, 3 yLku 4 (D) 2, 3 yLku 4

012. ¼khíkLkk Ãkwhkík¥ð rð»kÞf RríknkMk Lku æÞkLku ÷uíkk Lke[uLkk Ãkife fÞw MÚkkÃkíÞ MkkiÚke «Úk{ çkLkkðu÷ níkwt ?

(A) ¼wðLkuïh ¾kíkuLkwt ®÷økhks {trËh (Bhubaneshwar - Lingaraja Temple)

(B) ÄW÷e ¾kíku ÃkÚÚkh{ktÚke fkuíkhðk{kt ykðu÷ nkÚke (Rock-cut elephant at Dhauli)

(C) {nkçk÷eÃkwh{ ¾kíku ÃkÚÚkh{ktÚke fkuíkhu÷ MÚkkÃkíÞ (Rock-cut monuments at Mahabalipuram)

(D) WËÞøkehe ¾kíkuLke ðhknLke f]rík (Varaha image at Udaygiri)

013. yktÄú«Ëuþ îkhk “hkßÞLkw Vw÷” (State Flower) íkhefu fkuLke ÃkMktËøke ÚkE Au ?

(A) økw÷kçk (B) òM{eLk

(C) [tÃkku (D) f{¤

014. Lkøkkhk rð[khMkhýe {wsçk {wÏÞíðu ºký ÃkæÄríkyku{kt {trËh çkktÄfk{ ÚkkÞ Au. ÃkæÄrík yLku {trËhLke òuzeyku Ãkife fE
òuzeyku ÞkuøÞ Au ?

1. ykuzeþk rð[khMkýe  -  ÷ªøkhks {trËh

2. ¾kswhknku rð[khMkhýe  -  søkLLkkÚk {trËh

3. Mkku÷tfe rð[khMkhýe  -  MkwÞo {trËh (økwshkík)

(A) {kºk 1 yLku 3 (B) {kºk 2 yLku 1

(C) {kºk 2 yLku 3 (D) {kºk 2

015. yfçkh îkhk çkktÄðk{kt ykðu÷ VíkuÃkwh Mker¢ (Fatepur Sikri) {kt Lke[uLkk Ãkife ðkMíkw / {fkLk LkÚke.

(A) çkw÷tË Ëhðkò (B) òuÄkçkkE Ãkì÷uMk (Palace)

(C) Mk÷e{ r[MíkeLke Ëhøkkn (Tomb) (D) þeþ {nu÷
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016. r[ºkfk{-htøkfk{Lkk «fkh yLku íkuLkk rðMíkkhku Ëþkoðíkk òuzfk, økkuXðku.

1. ðh÷e ÃkuE®Lxøk (Warli) a. {nkhk»xÙ / økwshkík MkhnË

2. XLkfk ÃkuE®Lxøk (Thangka) b. rMk¬e{

3. {tsw»kk ÃkuE®Lxøk (Manjusha) c. rçknkh

4. f÷{fkhe ÃkuR®Lxøk (Kalamkari) d. yktÄú«Ëuþ
(A)  1 - b,  2 - c,  3 - d,  4 - a (B)  1 - a,  2 - b,  3 - c,  4 - d
(C)  1 - c,  2 - d,  3 - a,  4 - b (D)  1 - d,  2 - a,  3 - b,  4 - c

017. {kxefk{ (Pottery) Lkk MktçktÄeík fÞwt ðkõÞ ÞkuøÞ LkÚke ?

(A) ¾whò (Khuraja) «fkhLkk {kxefk{Lke þYykík ykuzeMkk{ktÚke ÚkÞu÷ níke.

(B) ç÷uf (Black) «fkhLkk {kxefk{Lke þYykík ykÍ{økZ, W¥kh«ËuþÚke ÚkÞu÷ níke.

(C) ç÷w (Blue) «fkhLkk {kxefk{Lke þYykík sÞÃkwhÚke ÚkÞu÷ níke.

(D) MkwhE (Surai) «fkhLkk {kxefk{Lke þYykík sB{w fkÂ~{hÚke ÚkE níke.

018. Lke[uLkk Ãkife fE f]rík [uíkLk ¼økík (Chetan Bhagat) îkhk ÷¾ðk{kt ykðu÷ LkÚke ?

(A) nkV øk÷o£uLz (Half Girlfriend)

(B) ðLk RLzeÞLk øk÷o (One Indian Girl)

(C) Äe Mke¢ux ðeþ ÷eMx (The Secret Wish List)

(D) Ä Úkzo {eMxuf ykìV {kÞ ÷kEV (The Third Mistake of My Life)

019. Mktøkeík ½hkLkk (Gharana) yLku íkuLkk økkÞfLke òuze Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) øðkr÷Þh ½hkLkk (Gwalior Gharana)  -  ©e rð»ýw Ãk÷wMkfh

(B) rfhkLkk ½hkLkk (Kirana Gharana)  -  yçËw÷ fhe{ ¾kLk

(C) ykøkúk ½hkLkk (Agra Gharana)  -  Ãktzeík ¼e{MkuLk òu»ke

(D) ÃkríkÞk÷k ½hkLkk (Patiala Gharana)  -  çkzu økw÷k{y÷e ¾kLk

020. ¼khíkLkk «ÏÞkík {trËhku yLku hkßÞLke òuze Ãkife fE òuzeyku ÞkuøÞ Au ?

1. þçkhe{k÷k (Sabarimala)  -  fuhk÷k

2. fkt[e Ãkwh{ (Kanchipuram)  -  íkkr{÷Lkkzw

3. Mk{÷ fkux (Samal kot)  -  yktÄú«Ëuþ

4. Ä{o MÚk¤ (Dharma sthala)  -  A¥keMkøkZ
(A) 1, 2, 4 (B) 1, 3, 4
(C) 1, 2, 3 (D) 2, 3, 4

021. ¼khíkLkk [[o (Church) MktçktÄe Lke[uLkk ðkõÞku [fkMkku.

1. Mke ÚkuzÙ÷ (Se Cathedral) [[o økkuðk{kt ykðu÷ Au. íkuLkwt çkktÄfk{ MkLku 1619 {kt Ãkqýo ÚkÞu÷ níkwt. yurþÞk ¾tzLkk {kuxk
[[o{kt íkuLke økýíkhe ÚkkÞ Au.

2. ðu÷LkfLLke (Valankanni) [[o íkk{e÷Lkkzw{kt ykðu÷ Au. ËwrLkÞkLkk Ãkrðºk [[kuo Ãkife yuf, íkhefu íkuLke økýLkk
ÚkkÞ Au.

(A) «Úk{ ðkõÞ Mkk[wt Au. (B) çkesw ðkõÞ Mkk[wt Au.

(C) «Úk{ yLku çkesw çkLLku ðkõÞku Mkk[k Au. (D) «Úk{ yLku çkesw çkLLku ðkõÞku ÞkuøÞ LkÚke.
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022. zkp. rð¢{ Mkkhk¼kE îkhk Lke[uLkk Ãkife fE MktMÚkkykuLke MÚkkÃkLkk fhu÷ Au ?

1. rVrÍf÷ heMk[o ÷uçkkuhuxhe (PRL)

2. yxehk (y{ËkðkË xuõMkxkE÷ RLzMxÙeÍ heMk[o yuMkkuMkeÞuþLk)

3. fkuBÞwrLkxe MkkÞLMk MkuLxh
4. LkuþLk÷ RLMkxexâqx ykìV VìþLk xufLkku÷kuS (NIFT)
(A) 1, 3, 4 (B) 1, 2, 4
(C) 1, 2, 3 (D) 2, 3, 4

023. Lke[uLkk ÃkifeLkk MkkrníÞ{ktÚke fÞk «ËkLkku ÃkLLkk÷k÷ Ãkxu÷Lkk Au ?

1. Mk{hktøký,     2.  {¤u÷k Sð,     3.  ½B{h ð÷kuýwt,     4.  ÃkkÚkoLku fnku [zkðu çkký

(A) 1, 2 yLku 3 (B) 1, 2 yLku 4

(C) 2, 3 yLku 4 (D) 1, 3 yLku 4

024. {kuøk÷ Mk{úkx “çkkçkh” çkkçkíku Lke[uLkk Ãkife fÞwt ðkõÞ ÞkuøÞ LkÚke ?

(A) íkuýu Rçkúkne{ ÷kuËeLku nhkðeLku {wøk÷ ðtþLke MÚkkÃkLkk fhu÷ níke.

(B) MkLku 1527 {kt ¾kLkðk (Khanwa) Lkk ÞwØ{kt hksÃkwíkkuLku nhkðu÷.

(C) MkLku 1528-29 Lkk ð»ko{kt ½k½hk (Ghaghra)Lkk ÞwæÄ{kt yV½kLkkuLku nhkðu÷.

(D) MkLku 1540 {kt íkuLkwt {]íÞw ÚkÞu÷.
025. ®MkÄw ¾eýLke MkÇÞíkkLkk MktË¼o{kt Lke[uLkk ðkõÞku íkÃkkMkku.

1. fk÷e çktøkkLk (Kali Bangan) ¾kíkuÚke ½ýk yðþu»kku {¤u÷ Au. nk÷{kt yk MÚk¤ hksMÚkkLk{kt ykðu÷wt Au.

2. MkLku 1922 {kt {kUnu-òu-ËzkuLke þkuÄ ÃkAe ÷kufkuLkk heíkheðkòu, f÷k, Ä{o yLku ðneðx çkkçkíku ½ýe {krníke {¤u÷ níke.

(A) «Úk{ ðkõÞ ÞkuøÞ Au. (B) çkesw ðkõÞ ÞkuøÞ Au.

(C) «Úk{ yLku çkesw çkLLku ðkõÞku ÞkuøÞ Au. (D) «Úk{ yLku çkesw çkLLku ðkõÞku ÞkuøÞ LkÚke.

026. «k[eLk ¼khík{kt r[rfíMkk rð¿kkLkLkk ûkuºk{kt Lke[uLkk Ãkife fkuLkwt «ËkLk ½ýwt {n¥ðLkwt hnu÷ Au ?

(A) Mkki{e÷k (Saumilla) (B) Mkwÿfk (Sudraka)

(C) MkLkwfk (Shaunaka) (D) Mkw©w»kk (Susrutha)

027. LkuþLk÷ zkpõxh rËðMk õÞkhu WsðkÞ Au ?

(A) 1 {u (B) 1 sqLk

(C) 1 sw÷kE (D) 1 ykuøkMx

028. 2018 Lke [uBÃkeÞLk xÙkuVe nkpfe (Champions Trophy Hockey) {kt fÞk ËuþLke VkELk÷{kt Sík ÚkÞu÷ Au ?
(A) £kLMk (B) ysuoLxeLkk

(C) ¼khík (D) ykuMxÙu÷eÞk

029. {kiÞo ðtþLke òýfkhe ykÃkíkk Lkkxf “{wÿk hkûkMk”Lkk ÷u¾f fkuý níkk ?

(A) rð»ýwøkwÃík (B) þwÿf

(C) fkr÷ËkMk (D) rðþk¾k Ë¥k

030. “Ãkt[íktºk” Lkk ÷u¾f fkuý Au ?

(A) rð»ýw þ{ko (B) [kýõÞ

(C) rð»ýwøkwÃík (D) íkw÷MkeËkMk
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031. Lke[uLkk ðkõÞku [fkMkku :
1. økwshkík{kt Mkku÷tfe ðtþLke MÚkkÃkLkk {w¤hks Mkku÷tfeyu fhu÷ níke yLku íkuLke hksÄkLke yýrn÷Ãkwh (Ãkkxý) níke.
2. {eLk¤Ëuðe økwshkíkLke «Úk{ {rn÷k þkMkf níke. íkuykuyu {÷kð ík¤kð yLku {wLkMkh ík¤kð çktÄkðu÷ níkk.
3. rMkÆhksu Ãkkxý{kt MknMºk®÷øk ík¤kð çkktÄu÷ yLku z¼kuE, ðehÃkwh ðøkuhu MÚk¤kuyu ðkð çktÄkÞu÷.
(A) «Úk{ yLku çkesw ðkõÞ ÞkuøÞ Au.
(B) «Úk{, çkesw yLku ºkesw ðkõÞ ÞkuøÞ Au.
(C) «Úk{ yLku çkesw ðkõÞ ÞkuøÞ Au.
(D) çkesw yLku ºkesw ðkõÞ ÞkuøÞ Au.

032. ykÍkËe Ãknu÷k økwshkík{kt fkUøkúuMkLkk 4 yrÄðuþLkku ¼hkÞu÷ níkk. íku {kxuLkk òuzfkyku Ãkife fÞw òuzfw ÞkuøÞ LkÚke.
MÚk¤ ð»ko yæÞûk©e
1. y{ËkðkË 1902 MkwhuLÿLkkÚk çkuLkhS
2. Mkwhík 1907 hkMkrçknkhe ½ku»k
3. y{ËkðkË 1921 økktÄeS
4. nrhÃkwhk 1938 Mkw¼k»k[tÿ çkkuÍ

(A) 4 (B) 3
(C) 2 (D) 1

033. rðsÞLkøkh Mkk{úkßÞ fE LkËeLkk rfLkkhu MÚkkÃkðk{kt ykðu÷ níkwt ?
(A) økkuËkðhe (B) r¢»ýk
(C) Lk{oËk (D) íkwtøk¼ÿk

034. “«Úk{ økku¤{uS Ãkrh»kË” ð¾íku rçkúxLkLkk ðzk«ÄkLk fkuý níkk ?
(A) [[eo÷ (Churchill) (B) hk{Mku {ufzkuLkkÕz (Ramsay Mcdonald)

(C) [uBçkh ÷eLk (Chamberlain) (D) zeÍhkÞu÷e (Disraeli)

035. {nkí{k økktÄeSyu Lke[uLkk Ãkife fkuLku ËeLkçktÄw (Deenbandhu) Lkku r¾íkkçk (Title) ykÃku÷ níkku ?
(A) Mke. yuV. yutz›Í (C. F. Andrews) (B) r[¥khtsLk ËkMk
(C) çkk¤ øktøkkÄh rx¤f (D) [tÿþu¾h

036. ykÃkýk Ëuþ{kt “{æÞMÚk çkuLf (Central Bank)” íkhefu fE çkuLf fkÞo fhu Au ?
(A) Mxux çkuLf ykìV EÂLzÞk (B) heÍðo çkuLf ykìV EÂLzÞk
(C) MkuLxÙ÷ çkuLf ykìV EÂLzÞk (D) Ãktòçk LkuþLk÷ çkuLf

037. Lke[uLkk Ãkife fE x{eoLkku÷kuS (þçË Mk{qn) çkuLfªøk MkkÚku Mktf¤kÞu÷ LkÚke ?
(A) NEFT (B) RTGS
(C) CBS (D) Insider Trading

038. FRBM (Fiscal Responsibility and Budget Management) Act ytøku Lke[uLkk ðkõÞku Ãkife fÞw ðkõÞ / ðkõÞku
Mkk[kt Au ?
1. FRBM fkÞËku 2003 {kt ÃkMkkh fhðk{kt ykðu÷ níkku yLku ytËksÃkºk{kt LkkýkrfÞ ¾kÄ ½xkzðkLkku {wÏÞ nuíkw níkku.
2. 2014 {kt ©e yuLk. fu. Mkª½Lkk yæÞûk MÚkkLku FRBM fkÞËkLke Mk{eûkk fhðk Mkr{rík h[u÷ níke.
(A) «Úk{ ðkõÞ Mkk[wt Au. (B) çkesw ðkõÞ Mkk[wt Au.
(C) «Úk{ yLku çkesw çkLLku ðkõÞku Mkk[k Au. (D) «Úk{ yLku çkesw çkLLku ðkõÞku ÞkuøÞ LkÚke.
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039. yuf ðkt[Lkk÷Þ{kt yXðkzeÞk{kt ykðLkkh ðkt[fkuLke MktÏÞk 310 Au. hrððkhu 540 y™u þrLkðkhu 630 ðkt[fku ðkt[Lkk÷Þ{kt
ykðu÷ níkk. yk Mktòuøkku{kt yLÞ rËðMkkuLke Mkhuhkþ ðkt[fku fux÷kt nþu ?
(A) 100 (B) 200
(C) 300 (D) 225

040. GDP (Gross Domestic Product) yLku IIP (Index of Industrial Production) Lke økýºke fhðk MOSPI
(Ministry of Statistics and Programme Implementation) îkhk ÃkkÞkLkk ð»ko (Base Year) íkhefu fÞw ð»ko
Lkffe fhu÷ Au ?
(A) 2011-12 (B) 2014-15
(C) 2016-17 (D) 2017-18

041. Ëh ð»kuo çknkh Ãkkzðk{kt ykðíkk ykŠÚkf Mkðuoûký (Economic Survey) çkkçkík{kt Lke[uLkk Ãkife fÞw rðÄkLk ÞkuøÞ LkÚke ?
(A) {wÏÞ ykŠÚkf Mk÷knfkhLkk {køkoËþoLk nuX¤ yk Mkðuoûký çknkh Ãkkzðk{kt ykðu Au.
(B) 2017-18 Lkk ð»ko{kt 2 ¼køk{kt yk Mkðuoûký çknkh Ãkkzðk{kt ykðu÷ Au.
(C) yk Mkðuoûký çksux ÃkAe çknkh Ãkkzðk{kt ykðu Au.
(D) yk Mkðuoûký{kt xqtfk yLku {æÞ{økk¤kLke yÚkoÔÞMÚkkLke [[ko ÚkkÞ Au.

042. Þw.yuLk. (ÞwLkkExuz LkuþLMk)Lke MktMÚkkyku yLku íkuLkk ðzk {ÚkfkuLku ÞkuøÞ heíku økkuXðku.
1. IBRD a. LÞwÞkufo
2. FAO b. ðkì®þøxLk zeMke
3. UNICEF c. hku{
4. ILO d. SrLkðk

(A)  1 - b,  2 - c,  3 - a,  4 - d (B)  1 - c,  2 - a,  3 - d,  4 - b
(C)  1 - a,  2 - d,  3 - b,  4 - c (D)  1 - d,  2 - b,  3 - c,  4 - a

043. ¼khíkLke ðkrýßÞf MktMÚkkyku yLku íkuLkk fkÞo{ÚkfLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?
(A) fkìVe çkkuzo  -  çkUøk÷wY (çkUø÷kuh) (B) hççkh çkkuzo  -  fkuèkÞ{
(C) xe çkkuzo (Tea Board)  -  f÷f¥kk (D) MÃkkEMkeMk çkkuzo (Spice-Board) -  [uLLkkE

044. LkuþLk÷ nkEðu ykìÚkkuhexe îkhk “zeÍex÷ ykxo øku÷he” - fÞk hkßÞ{kt MÚkkÃkðk{kt ykðu÷ Au ?
(A) nheÞkýk (B) {nkhk»xÙ
(C) W¥kh«Ëuþ (D) {æÞ «Ëuþ

045. IDI (Inclusive Development Index) fE MktMÚkk îkhk çknkh Ãkkzðk{kt ykðu Au ?
(A) ðÕzo RfkuLkkur{f Vkuh{ (World Economic Forum)

(B) ðÕzo çkuLf
(C) ELxhLkuþLk÷ {kuLkuxhe Vtz
(D) heÍðo çkuLf ykìV EÂLzÞk

046. ø÷kuçk÷ ntøkh RLzuõMk (Global Hunger Index) - 2017 {wsçk, ¼khík ynuðk÷{kt fÞk MÚkkLku Au ?
(A) 99 (B) 100
(C) 101 (D) 102

047. ¼khíkLkk MktrðÄkLkLkwt yÃkoý (Adopt) õÞkhu fhðk{kt ykðu÷ níkwt ?
(A) 26 LkðuBçkh, 1949 (B) 26 LkðuBçkh, 1948

(C) 26 LkðuBçkh, 1947 (D) 26 LkðuBçkh, 1950
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048. hkßÞLkeríkLkk {køkoËþof rMkØktíkkuLkk MktçktÄ{kt fÞw ðkfÞ ÞkuøÞ LkÚke ?
(A) fkuE LÞkÞk÷Þ yk òuøkðkEykuLkku y{÷ fhkðe þfþu.
(B) yk rMkæÄktíkku hkßÞLkk ðneðx{kt {q¤¼qík Au.
(C) hkßÞyu swËkswËk rðMíkkhku yLku ÔÞðMkkÞ{kt hkufkÞu÷ ÔÞÂõíkykuLke ykðf yMkk{Lkíkk Ëqh fhðk «ÞíLk fhðkLkk

hnu Au.
(D) ÃkwY»kku yLku MºkeykuLku Mkh¾k fk{ {kxu Mkh¾ku Ãkøkkh {¤ðku òuEyu.

049. Lke[uLke çkkçkíkku “hkßÞLkeíkeLkk {køkoËþof rMkØktíkku”Lkk MktË¼o{kt íkÃkkMkku.
1. hkßÞ Mkhfkh økúk{ Ãkt[kÞíkkuLke h[Lkk {kxu Ãkøk÷k ¼hþu.
2. hkßÞ Ãkkuíku rþûký, çkufkhe, ð]ØkðMÚkk ðøkuhu {kxu, ykŠÚkf þÂõík y™u rðfkMkLke {ÞkoËk{kt hneLku fk{økehe fhþu.
(A) çkLLku ðkõÞ ÞkuøÞ Au. (B) «Úk{ ðkõÞ ÞkuøÞ Au.
(C) çkesw ðkõÞ ÞkuøÞ Au. (D) çkLLku ðkõÞku yÞkuøÞ Au.

050. “hkßÞ{kt ¼khíkLke Mkhfkh, MktMkË, hkßÞ, hkßÞLke rðÄkLk {tz¤ íkÚkk MkhfkhLkk rLkÞtºký nuX¤Lke ík{k{ MÚkkrLkf yLku
çkeò Mk¥kk{tz¤kuLkku Mk{kðuþ ÚkkÞ Au.” yk çkkçkík çktÄkhýLkk fÞk ykxeof÷{kt Ëþkoðu÷ Au ?
(A) 15 (B) 14
(C) 13 (D) 12

051. “MktMkËLkk øk]nkuLke {wËík” ¼khíkLkk MktrðÄkLkLkk fÞk ykxeof÷ nuX¤ Lk¬e fhðk{kt ykðu÷ Au ?
(A) 82 (B) 83
(C) 84 (D) 85

052. Lke[uLkk Ãkife fÞk ðkõÞku Mkk[kt Au ?
1. Ëhuf hkßÞLkk yuf hkßÞÃkk÷ hnuþu.
2. hkßÞLke fkhkuçkkheLke Mk¥kk hkßÞÃkk÷{kt rðrník Úkþu.
3. WÃkhk»xÙÃkrík ÃkkuíkkLke MkneÚke rLk{ýqf fhu Au.
4. hkßÞÃkk÷ hk»xÙÃkríkLke {hS nkuÞ íÞkt MkwÄe nkuÆk Ähkðu Au.
(A) 1, 2 yLku 3 (B) 1, 3 yLku 4
(C) 1, 2 yLku 4 (D) 2, 3 yLku 4

053. “Wå[ík{ LÞkÞk÷Þ ÃkkuíkkLkk VuMk÷k yÚkðk nwf{kuLke ÃkwLkŠð[khýk fhe þfu Au.” ¼khíkLkk MktrðÄkLk{kt yk òuøkðkE fÞk
ykxeof÷{kt Ëþkoðu÷ Au ?
(A) 135 (B) 136
(C) 137 (D) 138

054. “Ãkt[kÞíkkuLke [qtxýe MktçktÄe çkkçkíkku{kt LÞkÞk÷ÞLke ËhBÞkLkøkeheLkk çkkÄ”Lke òuøkðkE ¼khíkLkk MktrðÄkLkLkk fÞk ykxeof÷
nuX¤ fhðk{kt ykðu÷e Au ?
(A) 243-O (yku) (B) 243-N (yuLk)
(C) 243-M (yu{) (D) 243-L (yu÷)

055. “÷kuf Mkuðk ykÞkuøkLkk fkÞkuo” çkkçkíkLke òuøkðkE ¼khíkLkk MktrðÄkLkLkk fÞk ykxeof÷{kt fhðk{kt ykðu÷e Au ?
(A) 318 (B) 319
(C) 320 (D) 321

056. hkßÞ ykÞkuøkLkk rfMMkk{kt ykÞkuøkLkk MkÇÞkuLke íkÚkk MxkVLke MkuðkLke þhíkku MktçktÄe rðrLkÞ{ku fhðkLke Mk¥kk fkuLke Au ?
(A) hk»xÙÃkrík (B) hkßÞÃkk÷
(C) {wÏÞ{tºke (D) {wÏÞ Mkr[ð
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057. økwshkík ÷kufkÞwõík ykÞkuøk yrÄrLkÞ{ 2013 {wsçk, {wÏÞ ÷kufkÞwõík WÃkhktík {n¥k{ fux÷k WÃk-÷kufkÞwõíkLke rLk{ýqf
fhe þfkÞ ?
(A) 3 (B) 4
(C) 5 (D) 6

058. Lke[u Ãkife fÞk ðkõÞku ÞkuøÞ Au ?

1. MkLku 2017 {kt 15 {k Lkkýk Ãkt[Lke h[Lkk fhðk{kt ykðu÷e Au.

2. íkuLkk yæÞûk íkhefu zkp. ðkÞ. ðe. huœe Au.

3. Lkkýk Ãkt[Lke h[Lkk yLkwåAuË 280 {wsçk fhðk{kt ykðu Au.

4. Ëh Ãkkt[ ð»kuo Lkkýk Ãkt[Lke h[Lkk fhðk{kt ykðu Au.

(A) 1, 2 yLku 3 (B) 1, 3 yLku 4

(C) 1, 2 yLku 4 (D) 2, 3 yLku 4

059. ¼khíkLkk rLkÞtºkf-{nk÷u¾k Ãkheûkf (Comptroller and Auditor General of India) Lke rLk{ýqf fkuý fhu Au yLku
çktÄkhýLkk fÞk yLkwåAuË nuX¤ fhðk{kt ykðu Au ?

(A) hk»xÙÃkrík, 148 (B) WÃkhk»xÙÃkrík, 147

(C) ðzk«ÄkLk, 146 (D) Lkkýk{tºke, 145

060. MkuLxÙ÷ rðS÷LMk yuõx fÞk ð»ko{kt y{÷{kt ykðu÷ níkku ?
(A) 2001 (B) 2002
(C) 2003 (D) 2004

061. “Ëuþ{kt MktMkË yLku rðÄkLk {tz¤Lke [qtxýeyku{kt Ëu¾hu¾, Ëkuhðýe yLku rLkÞtºký, [qtxýe ykÞkuøk{kt rLkrník ÚkkÞ Au.”
yk çkkçkík ¼khíkLkk MktrðÄkLkLkk fÞk yLkwåAuË{kt sýkðu÷ Au ?
(A) 324 (B) 323
(C) 322 (D) 321

062. yuf ÷tçk [kuhMkLke ÷tçkkE íkuLke Ãknku¤kE fhíkk ºký {exh ðÄkhu Au, òu ÷tçk [kuhMkLke Ãkrhr{rík 58 {exh nkuÞ íkku
÷tçk[kuhMkLke ÷tçkkE fux÷k {exh nþu ?
(A) 18 (B) 13
(C) 16 (D) 26

063. {nuþ yuf nkh{kt W¼ku Au, íku «Úk{Úke yLku yk¾hÚke 18 {k ¢{u Au. yk Mktòuøkku{kt íku nkh{kt fw÷ fux÷k ÔÞÂõíkyku nþu ?
(A) 33 (B) 35
(C) 37 (D) 39

064. 1 òLÞwykhe, 2018 Lkk hkus Mkku{ðkh Au. yk Mktòuøkku{kt 31 rzMkuBçkh, 2018 Lkk hkus fÞku ðkh nþu ?

(A) hrððkh (B) Mkku{ðkh

(C) {tøk¤ðkh (D) çkwÄðkh

065. ¾k÷e søÞk ¼hku :

32,  21,  12,  5,  .....?.....

(A) 1 (B) –1
(C) 0 (D) 2
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066. ¾k÷e søÞk ¼hku :

xÙkE (TRAI)  : xu÷efku{ ûkuºk  :  :  Ehzk (IRDA)  :  .....?.....

(A) çkUfªøk (B) þuhçkòh

(C) ðe{k (Insurance) (D) WœÞLk (Air line)

067. ykÃku÷ ykf]rík{kt (?) Lke søÞkyu fE MktÏÞk ykðþu ?

2
2
7
?

3
4
4
9

6
8

28
9

5
6

11
10

(A) 2 (B) 7
(C) 1 (D) – 5

068. (999)2  –  (1)2 = .....?.....

(A) 9,99,999 (B) 9,98,000
(C) 9,98,999 (D) 10,01,000

069. 130 {exh ÷ktçke yLku 45 fe÷ku{exh / f÷kfLke ÍzÃkÚke síke xÙuLk yuf Ãkw÷ 30 MkufLz{kt ÃkMkkh fhu Au. íkku Ãkw÷Lke ÷tçkkE
fux÷e nþu ?

(A) 215 {exh (B) 225 {exh

(C) 245 {exh (D) 265 {exh

070. yuf ÔÞÂõík 4.5% Lkk MkkËk ÔÞksLkk Ëhu Yk. 450 Lkw hkufký fhu Au. òu íkuLku 81 Yk. Lkwt ÔÞks òuEíkw nkuÞ íkku íkuýu fux÷k ð»ko
{kxu hkufký fhðwt sYhe Au ?

(A) 
13
2  ð»ko (B) 4 ð»ko

(C) 
14
2  ð»ko (D) 5 ð»ko

071. yuf [qtxýe Ãkrhýk{{kt W¼u÷k ºký W{uËðkhLku 1136, 7636 yLku 11628 {íkku {¤u Au, òu ík{k{ {íkËkíkkyku {ík
ykÃkíkk nkuÞ íkku [qtxýe Síku÷k W{uËðkhLku fux÷k xfk {íkku {éÞk nþu ?

(A) 5.7% (B) 37.43%
(C) 57% (D) 47%

072. 8 sýkLkk Mk{qnLkwt Mkhuhkþ ðsLk (Average weight) 65 kg Au. yk Mk{qn{kt yuf ÔÞÂõíkLkk çkË÷u çkeS ÔÞÂõíkLku «ðuþ
ykÃkðk{kt ykðu íkku Mkhuhkþ ðsLk 67 kg ÚkkÞ Au. yk Mktòuøkku{kt Lkðk ykðLkkh ÔÞÂõíkLkwt ðsLk fux÷wt nþu ?

(A) 67 kg (B) 59.5 kg
(C) 81 kg (D) 73 kg

073. 8 {exh ÷tçkkE, 6 {exh Ãknku¤kE yLku 22.5 Mku.{e. òzkE Ähkðíke Ëeðk÷ [ýðk {kxu 25 Mku.{e. ÷tçkkE, 11.25
Mku.{e. Ãknku¤kE yLku 6 Mku.{e. ô[kE Ähkðíke fux÷e $xku òuEyu ?

(A) 6400 (B) 5400
(C) 6800 (D) 6200
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074. 6, 9, 15, 18, 26, 33
WÃkhkuõík MktÏÞkyku Ãkife fE MktÏÞk çktÄçkuMkíke LkÚke ?
(A) 26 (B) 33
(C) 18 (D) 9

075. {nuþ yLku h{uþLke nk÷Lke ô{hLkku økwýku¥kh 5:4 Au. ºký ð»ko çkkË yk økwýku¥kh (Ratio) 11:9 Lkku ÚkkÞ Au. yk Mktòuøkku{kt
{nuþLke nk÷Lke ô{h fux÷e nþu ?

(A) 30 ð»ko (B) 24 ð»ko

(C) 25 ð»ko (D) 20 ð»ko

076. Ãk]Úðe Ãkh MkkiÚke ðÄkhu støk÷ rðMíkkh Ähkðíkku fÞku Ëuþ Au ?

(A) ¼khík (B) y{uhefk

(C) [eLk (D) hrþÞk

077. Lke[uLkk Ãkife fÞk Lk]íÞ / hkßÞkuLke rðøkíkku Ëþkoðíkk òuzfk ÞkuøÞ Au ?

1. ¼hík Lkkxâ{  -  íkk{e÷Lkkzw

2. fÚkf÷e  -  fuh¤

3. nsøkehe  -  ykMkk{

4. fw[eÃkwze  -  yktÄú«Ëuþ

(A) 1, 2 yLku 4 (B) 1, 3 yLku 4

(C) 1, 2 yLku 3 (D) 2, 3 yLku 4

078. økwshkík hkßÞLkwt hkßÞ Ãkûke fÞwt Au ?

(A) {kuh (B) Mkwh¾kçk-nts (^÷u{ªøkku)

(C) [f÷e (D) ÃkkuÃkx

079. yuÃkefÕ[h (Apiculture) fkuLke MkkÚku Mktf¤kÞu÷ Au ?

(A) {kA÷e Ãkk÷Lk (B) ¾uíkeðkze

(C) {Ä{k¾e WAuh (D) {h½k Ãkk÷Lk

080. Lke[uLkk Ãkife Ãkûke òuðkLkk MÚk¤ku (Bird watching sights) yLku hkßÞLku Ëþkoðíkk òuzfkyku Ãkife fÞw òuzfw ÞkuøÞ LkÚke ?

(A) S{ fkuçkuox LkuþLk÷ Ãkkfo  -  W¥khk¾tz

(B) ¼híkÃkwh fku÷kzeÞku ½kLkk (Keoladeo Ghana) y¼ÞkhÛÞ  -  hksMÚkkLk

(C) Mkw÷íkkLkÃkwh Ãkûke y¼ÞkhÛÞ  -  nheÞkýk

(D) zkp. Mk÷e{ y÷e Ãkûke y¼ÞkhÛÞ  -  W¥kh «Ëuþ

081. rð¿kkLkLkk rðrðÄ yuf{ku Ëþkoðíkk òuzeyku Ãkife fE òuzeyku ÞkuøÞ Au ?

1. ðkpx  -  rðãwík þÂõíkLkwt yuf{

2. ðkpÕx  -  rðãwík «ðknLkwt yuf{

3. MkuÂÕMkÞMk  -  íkkÃk{kLkLkwt yuf{

4. ÃkkMf÷  -  ËrhÞkE ytíkh {kÃkðkLkku yuf{

(A) 1, 3 yLku 4 (B) 1, 2 yLku 3

(C) 1, 2 yLku 4 (D) 2, 3 yLku 4
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082. íkk{ú (TAMRA) Ãkkuxo÷ yLku {kuçkkE÷ yìÃk Lke[uLkk Ãkife fkuLke MkkÚku òuzkÞu÷ Au ?

(A) fkÃkz Wãkuøk (B) ¾ký Wãkuøk

(C) Mxe÷ Wãkuøk (D) Ëwh Mkt[kh

083. “LkkuLk Mxef fwfªøk” (Non stick cooking) ðkMkýku {kxu su fkuxªøk (coating) ðkÃkhðk{kt ykðu Au íku þuLkwt çkLku÷ Au ?

(A) ÃkeðeMke (PVC) (B) xuV÷kuLk (Teflon)

(C) fk¤ku htøk (Black Paint) (D) yuÕÞwr{LkeÞ{

084. ÃkÈ¼q»ký Úke MkL{krLkík Mk÷e{ y÷e fÞk ûkuºk MkkÚku Mktf¤kÞu÷ Au ?

(A) Ãkûkeyku MkçktÄeík yÇÞkMk (B) ËheÞkE Sðku MkçktÄeík yÇÞkMk

(C) nðk{kLk MkçktÄeík yÇÞkMk (D) ¾uíkeLkk Ãkkfku MkçktÄeík yÇÞkMk

085. {Õxe r{zeÞk ðuçk Ãkus (Multi media web page) íkiÞkh fhðk {kxu Lke[uLkk Ãkife «kuøkúk{ ÷Uøkðus (Programme
Language) íkhefu þkLkku WÃkÞkuøk ÚkkÞ Au ?

(A) fkuçkku÷ (Cobol) (B) òðk (Java)

(C) çkuÍef (Basic) (D) yuMkuBçkh (Assember)

086. MkwÃkh fkuBÃÞwxh “Ãkh{” fE MktMÚkk îkhk rðfMkeík fhðk{kt ykðu÷ Au ?

(A) TCS (B) IIT ¾høkÃkwh

(C) IIT fkLkÃkwh (D) C-DAC

087. h{íkLkk MxurzÞ{ yLku MktçktrÄík þnuhLke òuzeyku Ãkife fE òuze ÞkuøÞ LkÚke ?

(A) ðkLk¾uzu MxurzÞ{  -  {wtçkE (B) MkðkE {kLk®Mkn MxurzÞ{  -  WËuÃkwh

(C) RzLk økkzoLk  -  f÷f¥kk (D) økúeLk Ãkkfo  -  fkLkÃkwh

088. h{ík yLku íkuLke MkkÚku Mktf¤kÞu÷ fÃk Cup / xÙkuVe (Trophy) Ëþkoðíkk òuzfk Ãkife fÞw òuzfw ÞkuøÞ LkÚke ?

(A) r¢fux  -  Ëw÷eÃk xÙkuVe (Duleep Trophy)

(B) nkpfe  -  Mkw÷íkkLk yiÍLkþkn fÃk (Sultan Azlanshah Cup)

(C) xuçk÷ xurLkMk  -  çkkËkuzfh xÙkuVe (Bandodkar Trophy)

(D) ÷kpLk xurLkMk  -  zuðeMk fÃk (Davis Cup)

089. h{íkðeh (Sport person) yLku íkuykuLke MkkÚku òuzkÞu÷ h{ík ÞkuøÞ heíku økkuXðku.

1. MkkÞLkk Lknuðk÷ a. r¢fux

2. {uhe fkì{ b. íkhðiÞk (Swimming)

3. çkw÷k [kiÄhe c. çkkuõMkªøk (Boxing)

4. {eÚkk÷e hks d. çkìz{eLxLk (Badminton)
(A)  1 - c,  2 - b,  3 - a,  4 - d (B)  1 - d,  2 - c,  3 - b,  4 - a

(C)  1 - b,  2 - a,  3 - d,  4 - c (D)  1 - a,  2 - d,  3 - c,  4 - b

090. íkk. 2 {u, 2018 Lkk fuçkeLkuxLkk rLkýoÞ {wsçk «ÄkLk{tºke ðÞ ðtËLk ÞkusLkk (PMVVY) ÞkusLkk{kt {n¥k{ fux÷wt hkufký
fhe þfkÞ Au ?

(A) Yk. 10 ÷k¾ (B) Yk. 12 ÷k¾

(C) Yk. 15 ÷k¾ (D) Yk. 20 ÷k¾
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091. {Õxe MkuõxkuheÞ÷ zuð÷Ãk{uLx «kuøkúk{ (MSDP) Lku fÞk Lkðk Lkk{Úke yLku sYhe MkwÄkhk ðÄkhk MkkÚku þY fhðkLkwt ykÞkusLk
fhðk{kt ykðLkkh Au ?

(A) «ÄkLk{tºke sLk rðfkMk fkÞo¢{ (PMJVK) (B) «ÄkLk{tºke ÄLk rðfkMk fkÞo¢{ (PMDVK)

(C) «ÄkLk{tºke rfMkkLk rðfkMk fkÞo¢{ (PMKVK) (D) «ÄkLk{tºke f]r»k rðfkMk fkÞo¢{ (PMKVK)

092. çkkÞku-Vk{koMÞwrxf÷ yLku {uzef÷ {kxuLkk MkkÄLkkuLkk rðfkMk {kxu sYhe LkkýkfeÞ {ËË {¤e hnu íku nuíkwMkh, Lke[uLkk Ãkife
fE MktMÚkk MkkÚku fhkh fhðk{kt ykðu÷ Au ?
(A) yuþeÞLk zuð÷Ãk{uLx çkuLf (ADB) (B) ðÕzo çkuLf (World bank)

(C) yk£efLk zuð÷Ãk{uLx çkuLf (D) yuþeÞLk RL£kMxÙõ[h RLkðuMx{uLx çkuLf

093. MkkÞLMk yLku xufLkku÷kuS rð¼køk (DST) ÃkkuíkkLkku MÚkkÃkLkk rËðMk õÞkhu Wsðu Au ?

(A) çkeS {u (2nd May) (B) ºkeS  {u (3rd May)

(C) [kuÚke  {u (4th May) (D) Ãkkt[{e  {u (5th May)

094. ¼khík{kt fÞk hkßÞ îkhk “M{kxo Mkexe”Lkk fkÞo¢{ku WÃkh rLkÞtºký hk¾ðk “ELxeøkúuxuz ftxÙku÷ yuLz f{kLz MkuLxh”
(ICCC) Lke MÚkkÃkLkk fhðk{kt ykðu÷e Au ?

(A) {nkhk»xÙ (B) fýkoxf

(C) {æÞ «Ëuþ (D) yktÄú«Ëuþ

095. 2018 ð»ko {kxu “ðÕzo hkuçkkux fkpLVhLMk” (World Robot Conference) fÞk MÚk¤u ykÞkuSík ÚkLkkh Au ?

(A) çkuStøk (Beijing) (B) xkufeÞku (Tokyo)

(C) Lkðe rËÕne (D) LÞwÞkufo

096. ¼khíkLkku MkkiÚke ÷ktçkku hkuz y™u huÕðu çkúes “çkkuøkeçke÷ çkúes” (Bogibeel Bridge) fE LkËe WÃkh çkktÄðk{kt ykðu÷
Au ?
(A) øktøkk (B) Þ{wLkk

(C) çkúñÃkwºkk (D) Mkík÷s

097. LkuþLk÷ RLMxexâwx ykpV {uLx÷ nuÕÚk henuçke÷exuþLk (National Institute of Mental Health Rehabilitation -
NIMHR) fÞk þnuh{kt MÚkkÃkðkLkwt ykÞkusLk Au ?

(A) RLËkuh (B) sçk÷Ãkwh

(C) ¼kuÃkk÷ (D) øðk÷eÞh

098. ¼khíkLkwt Mkki «Úk{ “Mkku÷kh ðes¤e” ykÄkheík huÕðu MxuþLk fÞwt Au ?

(A) ¼kuÃkk÷ - {æÞ«Ëuþ (B) økktÄeLkøkh - økwshkík

(C) økkin¥ke - ykMkk{ (D) ËkËh - {nkhk»xÙ

099. ËwLkeÞkLkwt «Úk{ íkhíkwt LÞwõ÷eÞh Ãkkðh MxuþLk (Floating nuclear powr station) fÞk Ëuþ îkhk çkLkkððk{kt ykðu÷
Au ?

(A) òÃkkLk (B) y{uhefk

(C) hrþÞk (D) [eLk

100. 2018 {kt Wçkh fÃk çkuz{eLxLk (Uber cup badminton) nheVkE fu su çkUøkfkìf{kt ÚkÞu÷, íku fÞk Ëuþ îkhk Síkðk{kt
ykðu÷e Au ?
(A) òÃkkLk (B) MkkWÚk yk£efk

(C) çkúkÍe÷ (D) hrþÞk
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101. The elastic stress strain behaviour of rubber is
(A) linear (B) non-linear
(C) plastic (D) unpredictable behaviour

102. The unique property of cast iron is its high
(A) malleability (B) ductility
(C) surface finish (D) damping characteristics

103. Sulphur in pig iron tends to make it
(A) hard (B) soft
(C) ductile (D) malleable

104. Iron is
(A) paramagnetic (B) ferromagnetic
(C) ferroelectric (D) dielecric

105. White cast iron contains carbon in the form
(A) graphite (B) white carbon
(C) ferrite (D) free carbon

106. Annealing of white cast iron results in production of
(A) grey iron (B) spheroidal iron
(C) malleable iron (D) nodular iron

107. Hardness of steel depends on
(A) amount of carbon it contains
(B) the shape and distribution of the carbides in iron
(C) method of fabrication
(D) contents of alloying elements

108. Corrosion resistance of steel is increased by addition of
(A) chromium and nickle (B) sulphur, phosphorus and lead
(C) vanadium, aluminium (D) zinc

109. German silver is an alloy of
(A) silver and some impurities (B) refined silver
(C) nickle, copper and zinc (D) nickle and copper

110. Sphalerite is the principal ore or raw material for
(A) zinc (B) silver
(C) tin (D) magnesium

111. An example of amorphous material is
(A) zinc (B) lead
(C) silver (D) glass

112. Which of the following is the binding material in cemented carbides?
(A) cobalt (B) nickle
(C) vanadium (D) carbon

113. Manganese in steel increases its
(A) hardness (B) tensile strength
(C) ductility (D) malleability
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114. Tungsten in high speed steel provides
(A) toughness (B) wear resistance
(C) hot hardness (D) sharp cutting edge

115. The hardness of steel increases if it contains
(A) austenite (B) martensite
(C) pearlite (D) cementite

116. Cupola produces following material
(A) cast iron (B) pig iron
(C) wrought iron (D) malleable iron

117. Which of the following element results in presence of free graphite in cast iron?
(A) carbon (B) sulphur
(C) silicon (D) manganese

118. Pipes of bicycle frames are made of
(A) cold rolled steel (B) hot rolled steel
(C) forged steel (D) cast-chrome steel

119. A specimen of aluminium metal when observed under microscope shows
(A) B.C.C. crystalline structure (B) F.C.C crystal structure
(C) H.C.P. structure (D) a complex cubic structure

120. If a refractory contains high content of silicon, it means refractory is
(A) acidic (B) basic
(C) neutral (D) brittle

121. The alloy used for making electrical resistances and heating elements is
(A) nichrome (B) invar
(C) magmin (D) elinvar

122. Which of the following alloys does not contain tin?
(A) fusible metal (B) phosphor bronze
(C) gun metal (D) white metal

123. Babbit metal is a
(A) lead base alloy (B) tin base alloy
(C) copper base alloy (D) (A) and (C) above

124. The transistor is made of
(A) silver (B) germanium
(C) copper (D) german silver

125. Lead is poured into the joint between two pipes. These pipes may be made of
(A) cast iron (B) asbestos cement
(C) vitrified clay (D) mild steel

126. Among the following materials, the most suitable material for withstanding shock and vibration
without danger of cracking
(A) chilled cast iron (B) grey cast iron
(C) malleable iron (D) graphite
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127. Coal used in cupola is
(A) coke (B) coal dust
(C) charcoal (D) pulverised coal

128. Which of the following has least percentage of carbon?
(A) malleable iron (B) pig iron
(C) stainless steel (D) wrought iron

129. Crystal structure of metals is studied by
(A) ultrasonic method (B) X - ray techniques
(C) electron microscope (D) high powered microscope

130. Slow plastic deformation of metals under a constant stress is known as
(A) creep (B) fatigue
(C) endurance (D) plastic deformation

131. Which of the following laws is applicable for the behaviour of a perfect gas?
(A) Boyle's law (B) Charles' law
(C) Gay-Lussac law (D) All of the above

132. Termperature of a gas is produced due to
(A) Its heating value (B) Kinetic energy of molecules
(C) Repulsion of molecules (D) Surface tension of molecules

133. According to kinetic energy of gases, the absolute zero temperature is attained when
(A) volume of the gas is zero (B) pressure of the gas is zero
(C) kinetic energy of the molecules is zero (D) specific heat of gas is zero

134. Superheated vapour behaves
(A) exactly as gas (B) as steam
(C) as ordinary vapour (D) approximately as a gas

135. The unit of power in S. I. units is
(A) newton (B) pascal
(C) joule (D) watt

136. According to which law, all perfect gases change in volume by l/273th of their original volume at
0° C for every 1° C change in temperature when pressure remains constant
(A) Charles' law (B) Joule's law
(C) Gay-Lussac law (D) Boyle's law

137. Properties of substances like pressure, temperature and density, in thermodynamic coordinates
are
(A) path functions (B) point functions
(C) cyclic functions (D) real functions

138. Mixture of ice and water form a
(A) closed system (B) open system
(C) isolated system (D) heterogeneous system

139. Work done in an adiabatic process between a given pair of end states depends upon
(A) the end states only (B) particular adiabatic process
(C) the value of index n (D) the value of heat transferred
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140. If value of n is infinitely large in a polytropic process pVn = C, then the process is known as
constant
(A) volume (B) pressure
(C) temperature (D) enthalpy

141. Change in enthalpy of a system is the heat supplied at
(A) constant temperature (B) constant volume
(C) constant pressure (D) constant entropy

142. In an isothermal process, the internal energy of gas molecules
(A) increases (B) decreases
(C) remains constant (D) shows unpredictable behaviour

143. Work done is zero for following process
(A) constant volume (B) free expansion
(C) throttling (D) All of the above

144. Which of the following process is irreversible process?
(A) isothermal (B) throttling
(C) adiabatic (D) All of the above

145. Air is to be compressed from atmospheric condition to 7 ata pressure. In which case the heat is
transffered will be minimum
(A) isothermal (B) adiabatic
(C) polytropic (D) isochoric

146. Change in inetrnal energy in a closed system is equal to heat transferred if the reversible process
takes place at constant
(A) pressure (B) temperature
(C) volume (D) internal energy

147. Total heat of a substance is also known as
(A) internal energy (B) entropy
(C) thermal capacity (D) enthalpy

148. An actual engine is to be designed having same efficiency as the Carnot cycle. Such proposition is
(A) feasible (B) impossible
(C) possible (D) desirable

149. The value of entropy at 0° C is taken as
(A) 1 (B) zero
(C) -1 (D) any value

150. The first law of thermodynamics is the law of
(A) conservation of energy (B) conservation of momentum
(C) conservation of mass (D) conservation of heat

151. Kelvin Planck's law deals with
(A) conservation of heat (B) conservation of work
(C) conservation of heat into work (D) conservation of work into heat
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152. One bar is equal to
(A) zero kgf/cm2 (B) 1 kgf/cm2 or 735.6 mm of Hg
(C) 1.033 kgf/cm2 or 760 mm of Hg (D) 1.0197 kgf/cm2 or 750.06 mm of Hg

153. Which of the following is the unit of energy?
(A) Watt (B) Joule (J)
(C) kW/hr (D) Joule-metre (J.m)

154. Heating of dry steam above saturation temperature is known as
(A) superheating (B) underheating
(C) supersaturation (D) none of the above.

155. Which one of the following thermodynamic processes approximates the steaming of food in a
pressure cooker?
(A) Isenthalpic (B) Isobaric
(C) Isochoric (D) Isothermal

156. The term N. T. P. stands for
(A) nominal temperature and pressure (B) normal temperature and pressure
(C) natural temperature and pressure (D) normal thermodynamic pressure

157. For which of the following substances, the internal energy and enthalpy are the functions of
temperature only
(A) saturated steam (B) superheated steam
(C) water (D) perfect gas

158. Energy can neither be created nor destroyed but can be converted from one form to other is
inferred from
(A) zeroth law of thermodynamics (B) first law of thermodynamics
(C) second law to thermodynamics (D) Claussius statement

159. Addition of heat at constant pressure to a gas results in
(A) raising its temperature
(B) raising its pressure
(C) raising its volume
(D) raising its temperature and doing external work

160. Change of entropy depends upon
(A) change of heat (B) change of mass
(C) change of temperature (D) change of specific heats

161. The substances which have a large number of free electrons and offer a low resisteance are called
(A) insulators (B) inductors
(C) semi-conductors (D) conductors

162. An electrical lamp consumes 100 W of power. If the supply voltage is 220 V the energy consumed
in 30 minutes is
(A) 0.005 kWh (B) 0.05 kWh
(C) 0.5 kWh (D) 5 kWh
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163. Three resistances of 10 ohms, 15 ohms and 30 ohms are connected in parallel. The total resistance
of the combination is
(A) 5 ohms (B) 10 ohms
(C) 15 ohms (D) 55 ohms

164. One commercial unit of energy equals
(A) 500 Watt-seconds (B) One Watt-hour
(C) One kiloWatt-hour (D) 10 kiloWatt-hour

165. With rise in temperature the resistance of pure metals
(A) remains constant (B) first increases and then decreases
(C) decreases (D) increases

166. An instrument which detects electric current is known as
(A) voltmeter (B) galvanometer
(C) rheostat (D) wattmeter

167. Which of the following statement is true both for a series and a parallel D. C. circuit?
(A) Currents are additive (B) Elements have individual currents
(C) Voltages are additive (D) Power are additive

168. Which of the following materials has a negative temperature co-efficient of resistance?
(A) Copper (B) Aluminium
(C) Carbon (D) Brass

169. Which of the following material has nearly zero temperature co-efficient of resistance?
(A) Manganin (B) Porcelain
(C) Carbon (D) Copper

170. Ohm's law is not applicable to
(A) vaccum tubes (B) carbon resistors
(C) high voltage circuits (D) circuits with low current densities

171. Which is the best conductor of electricity?
(A) Iron (B) Silver
(C) Copper (D) Carbon

172. The filament of an electric bulb is made of
(A) Carbon (B) Aluminium
(C) Tungsten (D) Nickle

173. The rating of fuse wire is always expressed in
(A) ampere-hours (B) ampere-volts
(C) kWh (D) amperes

174. Heat in a conductor is produced on the passage of electric current due to
(A) reactance (B) capacitance
(C) impedance (D) resistance

175. A glass rod when rubbed with silk cloth is charged because
(A) it takes in proton (B) its atoms are removed
(C) it gives away electrons (D) it gives away positive charge
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176. Switching of a lamp in house produces noise in the radio. This is because switching
operation produces
(A) arcs across the separating contacts
(B) mechanical noise of high intensity
(C) both mechanical noise and arc between contacts
(D) none of the above

177. Persons preparing electrolyte should wear
(A) goggles or other face shield (B) rubber
(C) rubber boots and gloves (D) all above safety devices

178. A wire of ______ will have least diameter.
(A) 2 SWG (B) 10 SWG
(C) 20 SWG (D) 30 SWG

179. Insulating materials have the function of
(A) preventing a short circuit between conducting wires
(B) preventing an open circuit between the voltage source and the load
(C) conducting very large currents
(D) storing very high currents

180. Which of the following A. C. motors is usually used in lerge motor generator set?
(A) Slip ring induction motor (B) Synchronous motor
(C) Squirrel cage induction motor (D) All of the above

181. If electric wires and appliances are overheated due to high voltage of electric current they can
(A) catch fire (B) burn
(C) freeze (D) both (A) and (B)

182. A short thin piece of wire which is heated up and melt by the flowing of electric current in it, is
called
(A) circuit (B) fuse
(C) cell (D) resistor

183. Which of the following quantities remain the same in all parts of a series circuit?
(A) Voltage (B) Power
(C) Resistance (D) Current

184. Which is the lightest particle of an atom?
(A) Neutron (B) Electron
(C) Proton (D) All of the above

185. A radio station broadcast at 30 m wavelength. The frequency of the broadcast will be
(A) 30 Hz (B) 300 Hz
(C) 10 MHz (D) 10 kHz

186. Which device is used for protection of equipment from from damage caused by overload or
short circuit?
(A) CVT (B) circuit breaker
(C) current transformer (D) lightning arrester
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187. Which of the following colour is used for radiation hazard?
(A) Red (B) Orange
(C) Green (D) Purple

188. An electric filament bulb can be worked from
(A) D. C. supply only (B) A. C. supply only
(C) Battery supply only (D) All of the above

189. Earthing switch is used for
(A) measuring of safety voltage
(B) protection of equipment from ground faults
(C) discharging residual energies
(D) All of the above

190. For testing appliances, the wattage of the test lamp should be
(A) very low (B) low
(C) high (D) any value

191. What difference does the 5th generation computer have from other generation computers?
(A) Technological advancement (B) Scientific code
(C) All of the above (D) None of the above

192. What does HTTP stands for?
(A) Head Tail Transfer Protocol (B) Hypertext Transfer Plot
(C) Hypertext Transfer Plotter (D) Hypertext Transfer Protocol

193. What type of software creates a smaller file that is faster to transfer over the internet?
(A) Compression (B) Fragmentation
(C) Unzipped (D) Encapsulation

194. Execution of two or more programs by a single CPU is known as
(A) Multiprogramming (B) Multiprocessing
(C) Timesharing (D) None of the above

195. An algorithm represented in the form of programming languages is
(A) Flowchart (B) Pseudo code
(C) Program (D) None of the above

196. Kite box in flow chart is used for
(A) Connecter (B) Decision
(C) Statement (D) All of the above

197. Computers process data under the control of sets of instructions termed as
(A) computer programs (B) computer data
(C) computer buses (D) computer instructions

198. Devices which are used to receive data from central processing unit are classified as
(A) output/input devices (B) digital devices
(C) signaled devices (D) output devices
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199. What is the standard terminal symbol for flowchart?
(A) Parallelogram (B) Diamond
(C) Circle (D) Square

200. When cutting and pasting, cutting section is temporarily stored in.
(A) Clipboard (B) Hard drive
(C) Dashboard (D) Diskette

201. Which of the following is an example of a binary number?
(A) W1BFD3 (B) 45364
(C) 401019 (D) 110110

202. The basic unit of a worksheet into which you enter data in Excel is called a
(A) column (B) box
(C) table (D) cell

203. The main working memory used by the computer are
(A) RAM (B) ROM
(C) Read access memory (D) Hard Drive

204. RAM stands for
(A) Random access memory (B) Read only memory
(C) Read access memory (D) Raid act memory

205. What is the commonly used unit for measuring the speed of data transmission?
(A) Mega Hertz (B) Characters per second
(C) Nano seconds (D) Bits per second

206. Which among following is correct extension of MS-word files ?
(A) .xls (B) .doc
(C) .ppt (D) .txt

207. Arrange in ascending order the units of memory TB, KB, GB, MB
(A) TB > MB > GB > KB (B) MB > GB > TB > KB
(C) GB > MB > KB > TB (D) TB > GB > MB > KB

208. WWW stands for?
(A) World Whole Web (B) Wide World Web
(C) World Wide Web (D) Web World Wide

209. A CPU contains
(A) a card reader and a printing device
(B) an analytical engine and a control unit
(C) a control unit and an arithmetic logic unit
(D) an arithmetic logic unit and a card reader

210. The computer code for interchange of information between terminals is
(A) ASCII (B) BCD
(C) Binary (D) BCDIC
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211. What type of software is anti-virus software?
(A) Systems software (B) Utility software
(C) Applications software (D) Operating systems

212. Which type of software provides the public with its source code free of charge?
(A) Open-source software (B) Multitasking systems
(C) UNIX (D) Systems software

213. What is the smallest unit of computer information?
(A) Byte (B) Bit
(C) Pixel (D) Binary dot

214. Which is the most common computer keyboard layout?
(A) JCUKEN (B) QWERTY
(C) Devorak (D) Colemark

215. Name the device that provides attachment points for RAM, Video Cards, Graphics card, etc.
(A) Processor (B) Hard drive
(C) Mother Board (D) Modem

216. Default line spacing in Word is
(A) Single (B) 1.5
(C) Double (D) None

217. 1 Byte =?
(A) 8 bits (B) 4 bits
(C) 2 bits (D) 6 bits

218. The horizontal and vertical lines on a worksheet are called
(A) Sheets (B) Gridlines
(C) Cells (D) Blocklines

219. Which kind of language is ‘C++’ ?
(A) A machine language (B) An assembly language
(C) Future language (D) An Object Oriented Language

220. Which is following is not a programming language ?
(A) PHP (B) Unix
(C) Perl (D) Java

221. Who of the following is not a major player in e-commerce?
(A) E-merchants (B) Legal professionals
(C) Vendors (D) Commerce Service Providers

222. Ability to reach directly to the customer is ______ of e-commerce.
(A) Strength (B) Weakness
(C) Threat (D) Disadvantage

223. Electronic tax payment belongs to the category of ______ .
(A) C2C (B) B2B
(C) P2P (D) C2G
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224. Which of the following is not a stage in the development of e-governance?
(A) Transition phase (B) Transformation phase
(C) Interaction phase (D) Transaction phase

225. The facilitator for National e-governance Programme (NeGP) in India is :
(A) Ministry of Human Resources Development
(B) Department of Electronics and Information Technology
(C) Department of E-governance
(D) Department of Administrative Reforms and Public Grievances

226. When preparing a website, designers should ensure that the site makes effective use of the text,
pictures and video. This design feature is known as
(A) communication (B) connection
(C) content (D) context

227. E-commerce involves the application of
(A) Knowledge Management systems (B) Product Management systems
(C) Services Management systems (D) All of the above

228. Supply chain management helps an organization in
(A) Reducing production costs
(B) Increase the production cost
(C) Reduce the time it takes to make a product
(D) All of the above

229. Which of the following is not an offer of major B2B marketers online?
(A) Product information (B) Customer purchasing
(C) Customer support services (D) Open trading networks

230. E-bay is a good example to define
(A) B2B (B) B2C
(C) C2C (D) G2C

231. Delivering high quality products quickly, error free, and for a reasonable price is
(A) Service Excellence (B) Operational Excellence
(C) Continuous Excellence (D) All of the above

232. One of the major problem for e-business growth is
(A) Lack of markets (B) Lack of sellers
(C) Lack of proper infrastructure (D) None of the above

233. ______ in reference to international trade, is the export by a country or company of a product at
a price that is lower in the foreign market than the price charged in the domestic market
(A) Dumping (B) Anti Dumping
(C) Non Dumping (D) None of the above

234. A government imposed limit on the quantity of some category of goods that can be exported to a
specified country during a specified period of time is called
(A) Administered Protection (B) Voluntary Export Restraint
(C) Imposed Export Restraint (D) None of the above
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235. Firms under perfectly competitive markets generally are
(A) Price makers (B) Price giver
(C) Price taker (D) None of the above

236. The value of SDR tends to be more stable than that of a single currency in the “Standard Basket
Valuation” because
(A) It is internationally accepted
(B) It is the weighted average of the exchange rates of the five major currencies
(C) Both (A) and (B) above (D) None of the above

237. The Uruguay Round, agreement deals with subsidies which are
(A) Prohibited subsidies (B) Actionable subsidies
(C) Non Actionable subsidies (D) All of the above

238. Consider the following statement regarding loans to self Help Groups in Union Budget 2018-19.
(i) Loans to women self help groups will increase to Rs. 75,000 Crore in 2019
(ii) It  increased to grow at 37% over previous year
Which of the statement given above is/are correct ?
(A) Only (i) (B) Only (ii)
(C) Both (i) and (ii) (D) None of the above

239. Which of the following statement is correct about the RISE 2022 announced by Government in
Union Budget 2018-19 ?
(A) It is to step up investment in Education
(B) It is to step up investment in Health
(C) It is to step up investment in Sport
(D) None of the above

240. According to Union Budget 2018 how much corpus is announced for Operation Green
(A) Rs. 200 Crore (B) Rs. 500 Crore
(C) Rs. 600 Crore (D) None of the above

241. According to Union Budget 2018 Govt. will contribute ______% of wages of the new employees
in EPF for all sectors for 3 years
(A) 8.33 (B) 10
(C) 12 (D) None of the above

242. As per Union Budget 2018 what is the amount of nutritional support that the govt will provide to
TB patients in the country
(A) Rs. 300 Crore (B) Rs. 600 Crore
(C) Rs. 900 Crore (D) Rs. 1200 Crore

243. Which Indian state becomes the first to unveil public cloud policy
(A) Andhra Pradesh (B) Karnataka
(C) Maharashtra (D) Gujarat

244. If an economy is purely competitive static economy then the economic profit will be
(A) Minimum (B) Maximum
(C) Zero (D) Negative
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245. Consider the following statements and identify the right one(s)

(i)    National income is the monetary value of all final goods and services produced

(ii)   Depreciation is deducted from gross value to get the net value

(A) (i) Only (B) (ii) Only

(C) Both (i) and (ii) above (D) None of the above

246. What base year is used to calculate per capita income in India

(A) 2004-05 (B) 2011-12

(C) 2014-15 (D) None of the above

247. A high average level of rear income per head is always associated with a high proportion of the
working population engaged in ______ sector

(A) Primary (B) Secondary

(C) Tertiary (D) None of the above

248. ______ is appointed as chairman of ISRO who will replace Shri A. S. Kiran Kumar

(A) M. Annadurai (B) K. Sivan

(C) Tessy Thomas (D) None of the above

249. Which of the following statement regarding “Viability Gap Funding Scheme” is not true

(A) Under the scheme, the central govt. meets upto 20% of capital cost of a project being
implemented in public private partnership mode

(B) The scheme is administered by Ministry of Finance, GOI

(C) Sectors eligible under the scheme are infrastructure, health and education

(D) It is a force multiplier enabling govt. to leverage its resources more effectively

250. Reserve Tranche Positions is a term used in context with

(A) RBI (B) SIDBI

(C) SSI (D) None of the above

251. Ways and Means Advance is a temperary finance facility provided to Govt. of India by RBI.
This scheme was introduced by RBI with effect from ______

(A) 01, April 1997 (B) 01, April 1998

(C) 01, April 1999 (D) None of the above

252. Which among the following was not stipulated in the Fiscal Responsibility and Budget
Management Act 2003.

(A) Elimination of Revanue Deficit

(B) Elimination of Primary Deficit

(C) Non borrowing by the Central Govt. from RBI except in certain situations

(D) Fixing govt. guarantees in any financial year as a percentage of GDP

253. Which scheme is working for creating digital inclusion and equitable growth in BPO sector ?

(A) India BPO Development Scheme (B) India BPO Growth Scheme

(C) India BPO Promotion Scheme (D) India BPO Advancement Scheme
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254. Govt. of India has signed a guarantee agreement for CTF loan of USD 98 Million for the “Shared
Infrastructure for Solar Parks Project” with
(A) USA Government (B) IMF
(C) World Bank (D) French Government

255. What is the limitation of free enterprise system
(A) High tax and less incentive to work (B) Uneven distribution of resources
(C) Restrictions on personal freedom (D) None of the above

256. Which is not a characterstic of capitalism
(A) Market Economy (B) Freedom of competition
(C) Supply and Demand based market (D) Classless Society

257. Which important initiatives were launched at the 14th MSME National Board Meeting in August
2016
(A) MSME Databank Portal (B) Online Facilitation Web Portal
(C) Both (A) and (B) above (D) None of the above

258. Which of the following agencies/organizations in India maintain the Microfinance Development
and Equity Fund
(A) CII (B) IBA
(C) SIDBI (D) NABARD

259. Under scheme for Financing Viable Infrastructure Projects through a Special Purpose Vehicle
the project should be from ______ sector(s)
(A) Transport and Logistic (B) Energy
(C) Water and Sanitation (D) All of the above

260. With effect from 26th Nov. 2014 capital investment in ______ is not an eligible sub-sector for
takeover finance scheme for Financing Viable Infrastucture Projects by India Infrastructure
Finance Company
(A) Fertilizer (B) Communication
(C) Social and Commercial Infrastructure (D) None of the above

261. The processing fees applicable for a bond issue upto Rs. 200 Crore under consideration for
Credit Enhancement by India Infracture Finance Company is ______
(A) Rs. 3 Lakh + Applicable Taxes (B) Rs. 5 Lakh + Applicable Taxes
(C) Rs. 7 Lakh + Applicable Taxes (D) None of the above

262. Under National award for outstanding MSE entrepreneurs the award consists of a trophy, a
certificate and a cash prize of ______ for quality product in each of the product groups.
(A) Rs. 25,000/- (B) Rs. 35,000/-
(C) Rs. 50,000/- (D) None of the above

263. Cosider the following statements and identify the correct one.
(i)    SSI registration is not mandatory requirement for a small business in India
(ii)    Center and State govt. benefits for small business are provided only to those business
having SSI registration
(A) Only (i) is correct (B) Only (ii) is correct
(C) Both (i) and (ii) are correct (D) None of the above
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264. Who among the following was appointed as Managing Director of India Infrastructure Finance
Company Limited on 01 January 2016
(A) Shri Pankaj Jain (B) Shri Pankaj Sinha
(C) Shri Pankaj Mittal (D) None of the above

265. The objective of SMILE scheme of SIDBI is to provide assistance in the nature of ______ on
relative soft terms to MSME
(A) Quasi-Equity (B) Terms Loan
(C) Both ‘A’ and ‘B’ above (D) None of the above

266. Financial Institutions that are eligible for support by SIDBI under MSERS scheme are
(A) Foreign Banks (B) Urban Co-operative Banks
(C) Private Banks (D) All of the above

267. Under the scheme ‘Assistance in Rent to MSEs’ of Government of Gujarat provides assistance
at ______ % of rent paid or ______ per annum, whichever is less in Municipal Corporation area
and area under the Urban Development Authority.
(A) 25% ; Rs. 30,000/- (B) 50% ; Rs. 50,000/-
(C) 60% ; Rs. 70,000/- (D) 75% ; Rs. 1,00,000/-

268. As per Public Procurment Policy of Government of India every Central Government Ministry,
Departments and PSUs shall procure minimum of ______ of their total annual value of goods or
services from Micro and Small Enterprises.
(A) 5% (B) 10%
(C) 15% (D) 20%

269. As per ______ of MSMED Act, 2006 State Government by notification shall establish one or
more Micro and Small Enterprise Facilitation Council.
(A) Section 15 (B) Section 20
(C) Section 22 (D) Section 25

270. Setting up of Livelihood Business Incubation Model is a component of which scheme of
Government of India ?
(A) ASPIRE (B) Aajeevika
(C) Swarnjayanti Gram Swarojgar Yojana (D) None of the above

271. The MSME Sampark platform is a digital platform wherein ______ register themselves.
(A) Job-seekers (B) Recruiters
(C) Both (A) and (B) (D) Supplies of raw material

272. The number of autonomous bodies under Ministry of Commerce and Industry, Government of
India are -
(A) 10 (B) 08
(C) 05 (D) None of the above

273. Who is the chairman of Indian Institute of Foreign Trade ?
(A) Secretary, Department of Commerce, Government of India
(B) Cabinet Minister, Ministry of Commerce & Industry, Government of India
(C) Minister of State, Ministry of Commerce & Industry, Government of India
(D) None of the above
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274. The founding partners of Indian Institute of Plantation Management including Department of
Commerce, Government of India, the four Commodity Boards of India and -
(A) Indian Tea Association (ITA)
(B) United Planters Association of Southern India (UPASI)
(C) Both (A) and (B) above
(D) Ministry of Environment, Forest and Climate Change, Government of India

275. The governing body of Indian Institute of Plantation Management consist of ______ members.
(A) 10 (B) 12
(C) 15 (D) 20

276. Directorate General of Commercial Intelligence and Statistics, comes under -
(A) Ministry of Finance, Government of India
(B) Ministry of Commerce and Industry, Government of India
(C) Ministry of Statistics and Program Implementation, Government of India
(D) Reserve Bank of India

277. The sole agency to issue RCMCs to pharma exporters is -
(A) Ministry of Commerce & Industry, Government of India
(B) Directorate General of Foreign Trade
(C) Pharmaceutical Export Promotion Council of India
(D) Directorate General of Trade Remedies

278. Office of Development Commissioner (SSI) under Ministry of Micro Small & Medium Enterprise,
Government of India was established in 1954 on the basis of recommendations of -
(A) Cabinet Committee on Industrial Development
(B) Ford foundation
(C) World Bank
(D) None of the above

279. Ministry of MSME, Government of India has made an initial allocation of Rs. 490 crores for the
period ______ for National SC/ST Hub -
(A) 2014 - 2019 (B) 2016 - 2020
(C) 2018 - 2022 (D) None of the above

280. As per the scheme Assistance to Training Institute of MSME, Government of India if a state
level EDI enters into partnership with NIMSME a total grant upto ______ is provided.
(A) Rs. 10 crore (B) Rs. 5 crore
(C) Rs. 2.5 crore (D) None of the above

281. Indo-German Tool Room, a training institute under Ministry of MSME, Government of India is
located at -
(A) Indore (B) Aurangabad
(C) Ahmedabad (D) All of the above

282. The revamping of Jamanalal Bajaj Central Research Institute into Mahatma Gandhi Institute
for Rural Industrialization based on ______ model and took place in 2001.
(A) Lewin’s Change Management (B) Mc Kinsey 7S Model
(C) Hub and Spokes Model (D) Kotter’s Change Management
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283. Institute for Design of Electrical Measuring Instruments under Ministry of Micro Small and
Midium Enterprise in located at -
(A) Nagpur (B) Visakhapatnam
(C) Lucknow (D) Mumbai

284. Cottage and Rural Industries Policy 2016 of Government of Gujarat aims to initiate the concept
of “One Village One Product”. This concept was first conceptulized and implemented in _______.
(A) Indonesia (B) China
(C) Japan (D) None of the above

285. Under Shri Vajpayee Bankable Yojana of Government of Gujarat the maximum limit of subsidy
amout for industries is -
(A) Rs. 2,00,000/- (B) Rs. 1,25,000/-
(C) Rs. 1,00,000/- (D) None of the above

286. Dattopant Thengadi Artisan Interest Subsidy Yojana (DTAISY) provides credit support to
registered artisans for the purchase of -
(A) Raw Material (B) Machinery
(C) Both (A) and (B) above (D) None of the above

287. Under the scheme Craft Business Development Center (CBDC) of Government of Gujarat
financial assistance of 70% on the project cost up to Rs. 7 crores is provided over a period of
______.
(A) 10 years (B) 12 years
(C) 15 years (D) None of the above

288. Government of Gujarat with the aim of providing artisans improved working environment and
infrastructure facility has implemented ______ scheme at village level.
(A) Village Tannery and Flaying Center
(B) Gramodyog Vikas Kendra
(C) Promotion of Cooperative Sector (Package Yojana)
(D) None of the above

289. The activities of Gujarat Engineering Research Institute include providing research and
development inputs to the activities of state in the field of -
(A) Water Resources (B) Roads
(C) Buildings (D) All of the above

290. Water and Land Management Institute is and autonomous body under ______ located at Anand
in Gujarat.

(A) Gujarat Irrigation Management Society
(B) Gujarat Water Resources Development Corporation
(C) Ministry of Water Resources, River Development & Ganga Rejuvenation, Government of

India
(D) None of the above

291. Entrepreneurship Development Institute of India is sponsored by -
(A) IDBI Bank Ltd. (B) ICICI Bank Ltd.
(C) State Bank of India (D) All of the above
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292. Aam Admi Bima Yojana is an Insurance scheme for rural landless household introduced by -
(A) National Insurance (B) LIC
(C) ICICI Life Prudential Co. (D) None of the above

293. Which state tops in the list on “Healthy States, Progressive India” published by Niti Ayog in
February 2018 ?
(A) Gujarat (B) Sikkim
(C) Kerala (D) None of the above

294. Which district in India became the first to have 100% solar powered Primary Health Centers.
(A) Majuli, Assam (B) Anantapur, Andhra Pradesh
(C) Surat, Guajarat (D) None of the above

295. What is the rank of India in the ranking published by Index of Economic Freedom 2018 ?
(A) 105 (B) 115
(C) 130 (D) 135

296. Which company recently purchased 77% stake in the Indian E-Commerce firm Flipkart ?
(A) Walmart (B) Amazon
(C) Hershey (D) None of the above

297. India’s first indegenous, long range artillery guns are knows as -
(A) Teer (B) Dhanush
(C) Nag (D) Pawan

298. National Digital Library is developed by which IIT ?
(A) Delhi (B) Mumbai
(C) Kharagpur (D) Indore

299. In which city world’s largest mobile factory is launched recently ?
(A) Noida, India (B) Guangzhou, China
(C) Taichung, Taiwan (D) None of the above

300. Which state topped the list of Ease of Doing Business ranking published by Government of
India in July 2018 ?
(A) Gujarat (B) Haryana
(C) Maharashtra (D) Andhra Pradesh
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